Beginners’ Lessons: Hands from Lesson 2to 5 NZBridge

Board 1 & K853 Board 5 & K5
North Deals v K862 NorthDeals v QJ10874 Opener's rebid shows 5+
None Vul ¢ 108 South opens 1 ¥ . North N-S Vul ¢ AQ4 hearts and a minimum
& K93 bids 2 ¥ showing 4 hearts 74 hand of 12-15 HCP.
4964 N 4 Q1072 and 6-9 HCP. 4 AJ962 N Q873 South now bids to game in
v 10 w eIM Q3 v A5 w EIN 96 hearts because they now
¢+ Q7643 S ¢ J952 South raises to game with ¢ 107 S ¢ K85 know they have a fit.
& AJ62 & 1087 a strong hand. & 8653 & J1092
& AJ « 104 Lead is top of a
vAJ9754 The lead of a small v K32 sequence.
¢ AK diamond by West is ¢J9632
Q54 from their longest and & AKQ Declarer plays 3 rounds
West North East South strongest suit. West North East South of clubs first, discarding a
Pass Pass 1lv 1v Pass 2¢ small spade to avoid 2
Pass 2v Pass 4v South should draw trumps Pass 2v Pass 4v spade losers. Then,
All pass as soon as possible. All pass Declarer draws trumps and
Lead: ¢ 3 Lead: # J plays diamonds.
Board 2 « KJ74 Board 6 452
East Deals v3 EastDeals v 1087
N-S Vul ¢ A6432 East opens 1 v (the lowest | E-W Vul ¢+ Q1086 East opens 1 4 and
«J53 4-card suit). & AK87 West bids 3 ¢ (showing
s 82 N & AQ65 & AK107 N 4 Q9843 4+ spades and enough to
vy KQ10542 w elN A987 West bids game in hearts v 62 w clM KQ43 invite to game).
¢+ KQ S ¢ J7 as they have 4 hearts and ¢ 74 S ¢ AJ
& K86 & A97 enough points for game. #QJ1096 *43 East, with a minimum
4 1093 & J6 hand, passes.
vJ6 The ¢ 10 lead is the top v AJ95
¢ 10985 of a sequence. ¢ K9532 South's lead is small from
Q1042 &52 their longest and strongest
West North East South Draw trumps and take the West North East South
1lv Pass spade finesse to capture le Pass Draw trumps then play
4v All pass the & K. 34 All pass clubs (their next longest
Lead: ¢ 10 Lead: ¢ 2 suit)
Board 3 & AKJ5 Board 7 & AJ93 South opens their longest
South Deals v A87 South Deals ¥ 106 4 suit and North bids 1 4
E-W Vul ¢ 1096 South opens the lower of Both Vul ¢+ 3 (4+ spades and 6+ HCP).
& 742 two 4-card suits. North bids & K7542 NB: North must not bid
& 106 N 4 843 1 4. South is strong enough | & K105 N 4 Q642 2 # as this shows 10+HCP.
v9642 w eI KQJ10 to raise to game. v75 w clM Q92 South jumps to 3 ¢ to
¢+ J532 S ¢ 874 ¢+ 9875 S ¢ A642 show 18-19 HCP with 5+
985 # K106 Lead is top of asequence. |# QJ108 63 hearts and 4+ diamonds,
Q972 » 87 so North can now bid to
v53 Draw trumps and play v AKJ83 game in hearts.
¢ AKQ towards clubs in South's ¢+ KQJ10
#AQJ3 hand (dummy), hoping the & A9 Leadis # Q.
West North East South # Kis in East's hand West North East South
1 1lv Declarer draws trumps
Pass 1le Pass 44 Pass 1le Pass 3¢ then plays on diamonds.
Lead: v K Pass 4v All pass
Board 4 & 102 Board 8 4« KQ9
WestDeals ¥ QJ63 WestDeals ¥ K83
Both Vul ¢ Q7 West opens 1 4 and East, None Vul ¢ 62 South opens 1 # and
&#QJ1072 with no fit, bids 1 NT & J6542 North bids 2 # with 6-9
4 AJ8654 N & K7 showing 6-9 HCP. West & AJS N 4 1043 and a fit.
v A105 w e I 2 prefers spades to notrumps, |¥ 10976 WY Y AJ4 2
¢ A94 S ¢ K8532 SO now bids 2 #. ¢+ Q843 S ¢ KJ105 South passes with a
& 3 K98 & 93 * 87 minimum hand.
4 Q93 Leadis # Q, top of a 48762
v K98 sequence. v Q5 v 10is the top of a
¢+ J106 ¢ A97 sequence.
& A654 Declarer draws trumps and & AKQ10
West North East South then plays diamonds (their | West North East South Draw trumps and lead
1le Pass INT Pass next longest suit). Pass Pass Pass 1 twice towards spade
24 All pass Pass 2% All pass honours in North's hand.
Lead: # Q Lead: v 10
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Beginners’ Lesson: Hands from Lesson 2to 6

Board 9 & 97
North Deals ¥ J65

E-W Vul ¢ AKS8
& A9843
4 Q1042 N 4 K86
vy K982 W E v Al107
¢ 762 s ¢ QJ105
Q2 » J105
4 AJ53
vQ43
¢ 943
& K76
West North East South
1INT Pass Pass
Pass
Lead: ¢ Q

North's 1 NT shows 12-14
HCP and a balanced hand.
South has 10 HCP which
is not enough for game so
should pass (South needs
11-12 HCP to invite game).

The ¢ Q lead is the top of
a sequence.

Declarer plays on the club
suit by leading towards K&
then a small club back to
the Ace. Now lose a club to
set up the last two clubs.

Board 10 e KJ74
East Deals v3

East's 1 NT promises a
balanced hand with 12-14

Both Vul ¢ 8643 HCP. West knows that
#J532 East has at least two hearts
482 N 4 A965 and therefore they have a
vy KQ10875 W E vA42 heart fit so should bid 4 v
¢+ KQ s +J75
& K86 & A97 Lead of a small spade
« Q103 promises an honour.
vJ96
¢ A1092 Declarer draws trumps
«# Q104 then plays the K¢ which
West North East South promotes the Q and J. This
INT Pass means a club can be
4v All pass discarded on the J¢
Lead: ¢ 4
Board 11 & KJ5 East does not like being
South Deals v 9843 in notrumps due to their
None Vul ¢ Q105 singleton, so bids 2 4 to
Q64 be in a better contract.
& 107 N + AQ984 West must pass as East's
v A65 w EIN 7 bid is a weakness
¢ K8762 S ¢ A43 takeout.
& AKS & 10832
4 632 After West wins the
vy KQJ102 Acev, play a small spade
¢+ J9 towards the AQ# . If North
& J97 plays low, play the Q#.
West North East South When this holds, play the
Pass Ae then target the
1INT Pass 24 All pass diamonds. Start with A+,
Lead: v K then K¢ then a small
diamond.
Board 12 » A98 West opens the higher
WestDeals ¥ J9732 ranking 5-card suit. East
N-S Vul ¢ QJ1i1o bids 2 # and West rebids
«#0Q8 2 v showing a 2nd suit
4 QJ432 N 4 K105 and at least 5 spades and
vy AKQ106 w eI 5 4 hearts. East bids to
¢ 76 S ¢ A932 game in spades now
& 3 # AK1054 knowing they have at
476 least an eight card a fit.
v 84
¢ K854 The lead is top of a
#J9762 sequence.
West North East South After winning the ¢ A,
1e Pass 2& Pass West plays # A and # K
2v Pass 44 All pass first and discards a
Lead: ¢ Q diamond in Dummy.
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